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Tpe1enuTh THI ypaBHeHHi. [IpuBecTH K KAHOHUYECKOMY BHIY..
L g + Qg + gy + 2wy +uy — 2%y = 0.
2. Uz + 2ty + Sty — 32u, = 0.
3. Upp = 2ugy + uyy + YUz + uy = 0.
4 Qtpy + Btz + Uy + Ttip + 41y = 0.
5. g + Uz — 2ty — 3z — Louy, + 272 = 0.
6. Uy — Btlgy + Uy + 10u; — 15u, + 2 — 2y = 0.

7. Ugz + gy + 100y, — 24u; + 42u, +2(z +y) = 0.

8. Ugp + dugy + 13uyy + 3uz + 24wy + 9(z +y) = 0.
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. s = Atz + Sty = Buz + uy = 0.

Uz = Oltzy + Uty — Uz + 2uy = 0.
Qg — duyy + Uz — 2uy + 7 =0.
Uy + 2y — Uz + A1y = 0.

Qg + iy + tyy + D1tz + duy = 0.

Uz + 2tzy + gy + Bz — Sty
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15, gy = Uy + 2z + 1y = 0.

16. tzz + tzy =, + 42 = 0.
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17, Btz + thay + Btz + 1ty +y = 0.




